ECOLIFE

MODEL : CF 9354-A (6') - EMERALD KING BED

Assembly Instruction

Item AA 1pe Item AB 1pe Item AC 2 pes Item A 3lpes | Item B 14 pes Item C 6 pes
Headboard Footboard Side Rail Plastic Dowel (8 x 25) JCBC W M6 x 40 JCBC M6 x 40
Item AD 1 pe Item AE 2 pes Item AF 4 pes Item D 4 pes Item E 48 pes Item F 56 pes
/ P ® puunnnnnnnan: g
16 Slats Center Rail Support leg
1847mm 2050mm 280mm Small Adjuster CSK M3.5x 16 mm CSK M4 x 32 mm
Item AG 8 pes Item AH 8 pes Ttem Al 2 pes Item G 36 pes Item H 8 pes Item [ 6 pes
\ " [{pmssanasnasunaed @v!gg %@nﬂu
Footboard leg
Drawer Slide 500 Drawer Slide 500 70 x 70 x 50(H) CSK M4 x 50mm JCBC M6 x 30 Mini Fix Bolt
Item J 6 pes Item K 6 pes Item L 52 pes
Mini Fix Housing Mini Fix Cap Power Nail %
Item M 16pes | Item N 1 pe Item O 10 pes
Item 1 2pes | Item2 2pes | Item3 2pes | Item4 2 pes d X @
K@ Drawer Front _ﬂ SR Dravver Front FB Drawer Back SR Drawer Back White Nail Leg Allen Key 65 mm M6 Flat Washer
Panel ° Panel
Item 5 2 pes Item 6 2 pes Item 7 8 pes Item 8 8 pes
O WW:WE;Q Bottom O WM—NE:.Q ot Drawer Side Panel X
Item 9 1pe :aV 1 pe Item 11 2pes | Item 12 2 pes
Item 13 Lpe Item 14 Lpe Item 15 Lpe Item 16 Lpe

Item 17

1 pe




i daig

ii ¢ do1s mun [ doig jj owes Ay SI IOMBIP
[[ews pue 1omeip S1q oy sjquudsse o) Kem oy | doIg

w2 w2
g =
(¢} Q
o o
(9] [\
92} 02}
= —
(¢} (¢}
o o
(@) W







-doys awres oy} yeadal pue

apIs 130 oy 03 61 dify oy * 7 M 31 uSY pue g1 03 HY ey 91 doig

L1 daig

1 daig

g1 daig













